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Start of the Experiment I
u Wonder what excitement awaits us! '

Experiment 1 Reflection of Light / 7'cd)llaih§1

€ 2 £V DAFVEOTILLEFALET,

»

O RiH—roER@DE AT, KEFHICATET.
REN—FORIRIEhE T, AENEE 1 F0TTELLI,

EaELT. ADE A
P EZFZLSICLTR, /}4{ - **X

© BEomIzz-T. BETFHCO>VIBIFET,
RIS, FEORICZ-T, BEHUDYEBIFELL.

£ £ £ F X X% X%

& Result 1
s Z

How has the tree’s reflection in the mirror changed?
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& Result 2

What patterns do you see when you look at the

f reflective card through the mirror?
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Let’s write it down in words and pictures !
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Experiment 2 Sparkling Scope / #5*5%%&’;
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& Doctor’s Challenge

- Try some questionsrelated to the experiment.
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Principles of the Experiment

| Principles of Experiment 1

First, observe that as the mirror bends forward and backward, the number of images reflected in the mirror
changes. When the mirror is bent toward you, it becomes a convex mirror.Convex mirrors spread the light and
allow a wider range of vision.As a result, the trees on the reflected card appear narrower (thinner) and more
numerous than when viewed in a plane mirror.

Also, when the mirror is bent back, it becomes a concave mirror.A concave mirror reduces the area reflected in
the mirror but magnifies the image.Therefore, fewer trees appear to spread out (thicker) than when viewed in a

flat mirror.

Next, observe the image seen between the two mirrors.As shown in the figure below, if the angle of the mirror
is 45 degrees and a ¥¢ is placed between the mirrors, 360 + 45 = 8 (¥¢) can be seen, including the real one.
The number of visible stars can be calculated by 360 divided by the “mirror angle”.

In this way, many patterns can be seen by facing two mirrors.In the experiment, the space between the mirrors
is 90 degrees, and the pattern on the card is reflected and looks like a flower.

One star is visible

at each same angle.

mirror mirror
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